
Pass Marks : 30

Time : Three hours

The figttes itr the ,rnnrgitr irilicate frill nnrks
for tlrc qltestions.

2022

Full Marks : 100

Q. No 1 cnrries 7 nnrk etclt

Total nunrber of Pnges ' 4

Lx1,2 = -12

ix,1 = ?O

6x2 = 12

4x5 = 20

10x1 = 10

' Q. Nro. 2 corries 2 nnrks ench 2x13 = 26

Q, Mr. 3 carries 5 nnrks enclr

Q. No. 4 carries 6 nnrks ench

Q. No. 5 cLtrries 4 nnrks e-tclr

Q. No. 6 cntries 1-0 nmtks

Total =100

Contd,
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1. ffi {irET-q qqr q-rffii fu-firq fen , 1qi-qfrifr) 7x7?=12

(u) 14* qqT ftH qr ffi q ?

(r) rlRqkelT €Mr ?

(q) eH {rqTfr fr ger w ?

(s) irr( qg qrq'w q Em u-"{qFTfi i
(q) "ta fr lorr 96 t !-( qqTtt t erend vn {fn\r u

(g) "<rd'-q151" ft BrTferqr q'r?

(tr7 qTIX{lE FiT q'gqqFT FF{llsItFT lsl qTEIFI /
(S) qqRlr{ sfl3il qT qrqqrEsrTq qqfu q;efl ffifq r
(e) .mOf q1Eirf.'lqt qhGt{ i
(z) e{rKa {r.:riqr S-€*-{ ErdflzTrEr €t{df tsr-qrq ulelq-eiqt{ ?

(a) \ERUE ffi{ qukr e-&qe rffiq ffifrq I .

(s) oTifd-< sfuqen qr ffi e{rgrq 1ffi q;en ffifi-q:
(d) trp"frq-{ qr<R fuqR" \iE's6'ffi ffirFsi etl?

2. {C tnq-+o fcn : 1urufu qrqi qffir5qfry zx13:26
(q) qq(rq rilor Vg-rTq .rit e-"ii$ ffi € for r

(rs) Tq{rE t{E \rdr srq"P{ M' qHi Et-{Tq qrq} ?

(rT) 'r{irTfrq't q-{r-{ 1M{ ftflfrrRqT Til{ eilt q<ir ?

(q) ,irfr errql "tn efurmrq qT qT +{q qrn arf} Z

(s) mrgft dd"+re qqrk tETqrft q}€TzriTq tail Z

(") s{-d-E3r ggilq qii u-*irg ffi E frn I

(o) wofrqt effio1 qrdr stTt qaqe qffiq ffifi-q:
(q) qaq siTt t d{rq S BTiqT erd $qrq qri qTq*}rd} erR'q rrdqt{ ?

(H) The Kacharis ffi ffiTRqT Ti{ erTt qrffir sirur*qlq 7

(vl Au'=* qr' {Mrr6t{r q-d qrqqr{|ffirq ed qrq'rlr-sfuq {qqi Qffiq I
(z) .nfrBTrq .Tlqi .Trq .nrtt$ Eif,Tt $qflEFTRqr qr {q.Rr ffiz
(a) e"*r< t<rq qTqiqfr rhnEii rr-{rq{rq qrfrqr qT )
(s) qnd t Erq q(' 6rft +{il warT.sFTftqr qri g-df ?
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(6) *hr qt' {rqrfr 3ilqtf,IE 31fi q-q1 sr*rs{rq ril<n $qqTEtrsit lrigffinq
qTTiT ?

(orl qltqr qrn .rq} ?

.rErqfi eT-gdRfr fiFTffq fot : 1viufu qlq1 Sqift;
(*.) Etfufi{ .Trfufr qqrflr q6id ffi lotr
(u) "tQ rlqn +fr'Nf " e;erygoryq rq-qgftftqT ffi qiftffiq €{r qM

fat r

(rr) gTK qq rg3lr vgilq "{kqT" {rqen{3ilt{ qr qHH eEHf lhtrqlqrT fut t

( q ) ' ' g,{d "i nrq{ r6q' ' g:s;1gqrq e-*rrEffiqr {qtrl utqi rTTn eFIrg{ ETqrT

€qT ?

(g') 1952 qrqqr{alTq ffi teiiqrq sil*,qr qr *qqrc effisfr ffi+ qMf ?

rT6rqf{ sqqJIfr fiErrTq Iqft ff,{ : (fr$6; 6x2=12

(e;-) ,,qrerft €r-eiefl-q ael ffilq" ffi qirqrqfq feqt

(u) enEmR EIqf,rfr qHq qTRfuGt qffi f6i 1

(.T) rr*iqffi 36qp1" e;e.fl{fr Ud "isrd 
iif{ {qdf qiriqT-q-rTt td{l

4x5=20ffit fqrrTq feR :

(ql &qq;i =Trd ggt ? rAfrdqHI ffit ffi enfr qr qr qtrqrqqfi fm r

.(s) qnqr Ercll.KI qrd. g-gt frRt*l 6qTi qii-{qq t

(rr) fq qinqTqqT EIqIqqt qT€i gsi fqf<f"l frqr qttrTq t

(q) 3iiiq ffi qlell EL (ffifr)\ / 
td ti, Bg Eg, olTfr-q:fr, If{pl t-{, srsr{ tff,rq, frgr q1-<hl

(9 qTsII srcr &q 
'qrcRqr afdr qTqqlql gqi t

rdr
frEr rfqriT q6etg f{-<tq rilEnT EHqrrT I

6. qrqf{q erqr ffift ffiqrg fiR-< :

(s') t{q qird 
r

(q) e-{'fr 664 sf*; 1

(.1) q1' sq1q5q qiFjl tffi?n$ t

(rl) E{'ffi gi qi'ffilq 
1

5x4=203.

5.

10

32T MBOD



32T MBOD I4l 25*


